Week 7	Numeracy – Addition and Subtraction	27.05.2020
1.	Answer these.

a. 2363 + 4820 =

b. 6905 + 4795 =

c. 4737 + 9952 =

d. 9455 + 8764 =

2.	Answer these.

a. 12 473 + 7239 =

b. 48 458 + 4624 =

c. 97 421 + 6521 =

d. 88 895 + 12 869 =

3.	Find the missing numbers.

a. 14 457 + _______________ = 19 880

b. 74 404 + _______________ = 83 393

c. 84 330 + _______________ = 101 352

d. 105 576 + ______________ = 129 417

4.	Use the symbol < or > to make each statement correct.

a. 48.69 + 39.32 ________ 54.12 + 32.10

b. 83.15 + 17.23 ________ 72.46 + 27.99

c. 123.52 + 31.50 ________ 89.62 + 98.62

d. 321.02 + 129.01 ________ 294.94 + 89.90

5.	Challenge.

a. 38.20 + 28.18 + 4.21 =

b. 38.98 + 27.40 + 9.27 =

c. 337.39 + 128.47 + 3.45 = 

d. 562.93 + 12.47 + 125.59 =

e. 37.42 + 845.35 + 385.93 =

6.	Answer these.

a. 9287 – 2038 =

b. 8293 – 2940 =

c. 3622 – 2037 =

d. 5038 – 4956 =

7.	Answer these.

a. 29 374 – 8349 =

b. 39023 – 9403 =

c. 65 028 – 9482 =

d. 94 859 – 28 458 =

8.	Find the missing numbers.

a. 48 923 - ______________ = 36 138

b. ___________ - 24 812 = 32 168

c. 99 842 - _________ = 15 627

d. ___________ - 74 206 = 50 481

9.	Use the symbol < or > to make each statement correct.

a. 93.58 – 32.21 ______ 83.28 – 14.65

b. 47.65 – 18.98 _______ 85.86 – 64.78

c. 234.37 – 90.38 ________ 365.97 – 281.46

d. 832.84 – 233.28 ________ 649.49 – 147.20

10.	Continue the pattern for the next three calculations.

a. 12.03 – 8.98 = 3.05

b. 12.02 – 8.99 = 3.03

c.

d.

e.

11.	Complete the calculation by writing the correct digits in the boxes.
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